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OSRYMHA M A 2,100
oS XEI=2HSHE 35,000& *302 1,050
oZE2H = 35,000& x30% 1,050
OSXH=29E 2HES 1,250
CMNEHRR U BHLYS
400& x20000 25 160
o AHEHTE 150, 000& *1JH 150
od o S 66,000& *5J4 330
SE-Y\E=N 20,000& =54+ X+ 100
oXglH EY 200, 000& *2H 400
ocZ2AJ| EY 110, 000& *1JH 110
O2XH=2¢E &I 8,488
oHlAAE XTA 3,000 3508 x 1 1,050
o XAl 3,000& x125H *3 1,125
oS4 4,000 x1259% x4 2,000
o & Al 8,000 x125H x3 3,000
o 0F4], 2t4A] 3,500& x 1259 x3 1,313
OSXNH=2ds &H Xz 368
oxgly 30,000& *x2CH 4 240
o S AHD| 20,000 =104 80
od4J| U 12,000 1 CH 4 48
Tyl el 2,544 2,544 0
1,272




EX: oFE T Al D}
M QDo OIEE MBS
Gl : plete et 2435 (2 &HH)
SN ED B (3H) - MEAY - BAS Ol &F o4 ﬁlgﬁ HDZ2
201 Bt 2,544 2,544 0
Al 1,272
- 1,272
01 AP 22| H| 2,544 2,544 0
olgte] &H P2 2,000,000& 2,000
Al 1,000
5 1,000
Oolstl HOIAIA JHA 544,000 544
Al 272
- 272
gt ns29 9 X3 10,492 6,626 3,866
= 3,604
Al 3,444
=) 3,444
201 gEt2Ay| 652 652 0
= 652
01 AP 22| H| 652 652 0
ooz s o sg&d 652,000 652
= 652
301 et A= 9,840 5,974 3,866
= 2,952
Al 3,444
- 3,444
12 JIEtE A= 9,840 5,974 3,866
Oolgns ZA= X3 4,950,000 4,950
= 1,485
Al 1,733
- 1,732
oolgt? J=Xed s 82w XN
3,000,000 3,000
= 900
Al 1,050
- 1,050
Ooolgte elged 540,000 540
= 162
Al 189
5 189
OoX&aogty 4 1,350,000 1,350
= 405
Al 472
2 473
=20IE0 2Ieo 4 =H&EH| 1,900 1,900 0
= 570
Al 665
- 665
201 et I H| 1,900 1,900 0
= 570
Al 665




SN OETAD
M QDo OIEE MBS
el gl oEr s (el @)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
- 665
01 At 22l 1,900 1,900 0
Oglgo & =3l 1,900,000 1,900
=2 570
Al 665
- 665
AOIH Qlegfus 299 6,600 6,600 0
201 Let24d]| 6,600 6,600 0
01 At 2teltl 6,600 6,600 0
OAtOIH eletuns 24 6,600,000 »14! 6,600
SMEA 24 836,536 852,523 A 15,987
= 26,476
Al 21,674
- 788,386
=0 &5 & 2l 836,536 852,523 A 15,987
2 26,476
Al 21,674
- 788,386
tz2stet o Ag2el(MEAY) 506,733 530,741 A 24,008
101 @124l 254,912 238,641 16,271
04 JIZHHNZ22XNSE+ 254,912 238,641 16,271
Onz= - 3t - &H - =st2tel JIZENZ2Z 2 A
Il 229,700
= QI 81,1963 12 220 214,358
ocMEtzg BN 3,084 #12H »220 8,142
oEXNZEAE 300,000& x12H 3,600
cHELMNWS 300,000& x12H 3,600
OMEX 2E3 25,212
ocZDAZIEEHEES 229,700,000& x4 .5% 10,337
o=ZQAABERESZ  229,700,000& %3.43% 7,879
CLNIQYRHRLYS
7,879,000& x11.52% 908
cNEEERES 229,700,000& *1.65% 3,791
oM EERE S 229,700,000& 1.00% 2,297
201 Let24d]| 12,908 10,550 2,358
01 At 2teltl 2,658 1,500 1,158
OZdZegd EY 1,300, 000& 1= 1,300
O%MEE QAASI2 88 YMARSE 49
100, 000& »2H 200
OsX2eld II=sH, =28 S 1,158
oIl =l 734
A= (6t 55) 110,000& »2H 220
Rl 200,000& »x2H 400




S HE T Al D
HE: sMEA =4
Sl =X =S L 2 CEEEED
SH-HH . B(SH) - HBAMY - B2 ofl &t o SSa HDE2
OFM (&Y 3 40,000& x2H 80
2 X 7,000 x2H 14
PAg=Td 10,000 x2H 20
o= S BY 02 HIAEY Sy
8,000 x2H »22 x7 & 224
o CHEH sl AL 50,000& *2H *13] 100
ocLESXEM=EUZ 50,000& x2H x13] 100
02 332 H| 10,250 9,050 1,200
Osg 222 2 583 S22l 200,000 x5CH 1,000
Osd dAD 2 HxED € FEUH(YSR)
1,700& *1,0002| E4 1,700
O=X&2 HNES 50,000& x12H 600
Ogxe NSHEZH ad(&e) 350,000 350
O3tet & 2H S & -otx=E2=
25,000 2201 A~ x12€) 6,600
206 M = Hl 20,850 20,850 0
01 24l 20,850 20,850 0
Oz, 3= 2 2 8 A2 20,850
o BFHIFM (=2t A, KIABH S)
(5,500 *1,2009H )+ (10,0002 70 ) 7,300
oHIZ2(RIIE, 2I1&) 500& *3,000kg 1,500
o2 H AN (=2 FAl) 5,500& *800H 4,400
SPNE=—pniel 20,000& *100%= 2,000
o OtAE 20,000& =100 m’ 2,000
caHANAEEZE L SJFEM HOE
13,0003 x50 4 650
oXMAL U JEIXM S 10,000 *300& 3,000
305 HAa=2S 1,000 1,000 0
01 HIMN=SS 1,000 1,000 0
O=sXl&2 gja=s 1,000, 000& 1,000
401 Al HI L 20| 215,600 257,600 AN 42,000
01 A& Hl 215,600 257,600 AN 42,000
O&H AIE2 SX2el 4,000,000& 100 A 40,000
O3tE A8 2 X122 140, 000& =400 2 5,600
Otz B4 1,000,000& *202 20,000
OJt2 4 & X (B25cm0l &)
(SZ&DJ| 200,000 «100=)+(3H& I 200,000 40,000
*x1002)
OStH - sk =324 20,000& 1,000 20,000
O3 & =5 &H| 100, 000& 100 m* 10,000
OMEd fe+= FHI 20,000,000& 20,000
OMegil=Xl =& 84 5,000,000& x4 3| 20,000
O28 LI S0 MAAME 20,000,000 *14! 20,000

_14_




EX: oFE T Al D}
HE: =MCA FA
Sl =X EHE Y 2 CERED
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
O28LI 2L WHAY 20,000,000 «1A! 20,000
405 KHoHFE S HI 1,463 2,100 NB37
01 XA 2B F S| 1,463 2,100 ANB37
SH 2L 1,463
oz MAI| 583,000 =1CH 583
ocdlXIEZ< 880,000 =1CH 880
27 L AQH 2H(MEAY) 111,600 109, 600 2,000
206 M = Hl 91,600 91,600 0
01 X2 8| 91,600 91,600 0]
O=x3t - &P &2 2,000
oHl2 5008 x1,000kg 500
oz 10,0002 x150 1,500
O=x3t32¢ 900& 13,000 *4 3] 46,800
OZHFAESE 22,800
cZIAME RA(6=/IH) 12,0002 =1, 8004 21,600
ocHMAYHI S (MSEEAM) 60,000& 20 1,200
OZUR (X Zgh) 2,000 %2, 5002 %4 3| 20,000
401 AlEHIZL £ 0HY| 20,000 18,000 2,000
01 Al&H| 20,000 18,000 2,000
OHJIZ2 (=2, =38 S)HMdaldl
200,000 =100 20,000
=X 22 xezel 14,840 14,840 0
201 gBt24d| 14,840 14,840 0
02 224 H| 14,840 14,840 0
OX= XA 60, 000& ~2LH 120
OXsx B2 600,000 =4CH 2,400
OXNSXEtINLAEL2 80,000& =20l *23] 320
Ozt X |X4| 12,000
og&XE 3,000,000 =2CH 6,000
o =Xl 22l X 3,000,000 =2CH 6,000
Z2EZ ANEIIZHE 22| 57,000 57,000 0
201 et Y| 9,000 9,000 0
01 AP 22| H| 1,000 1,000 0
OZEz 2232 0ls&H &=
50,000 20 Al 2+ 1,000
02 232 H4| 8,000 8,000 0
Ox=Z3AN4E E AMEaSRX &2l 200,000 254 A 5,000
OFdANE & 22
50,000& x50 A x 1200 & 3,000
206 M = dl 48,000 48,000 0




SN OETAD
B =MTA XY
Sl =X EHE Y 2 (S &2)
SN EB S (3H) - NBAY - B2 ofl &t o SSa HDE2
01 & bl 48,000 48,000 0
OJz2sd ¢ HdAaEe =3 48,000
SONRt, WO, B0t S(ASY HA
12,000,000& 14! 12,000
o MAHE X3 900& *10,000& *4 3] 36,000
MNEAMHAER0 29 XN 21,724 21,724 0
Al 13,731
- 7,993
101 2124 d| 21,724 21,724 0
Al 13,731
- 7,993
04 JIZtHI2E2EXNSE 21,724 21,724 0
OMEIHHIAES R0 (S AISXIZEH) oAy 21,724
SRclrals] 21,124,000 *1H 21,124
Al 13,731
= 7,393
oS ALQE 300,000& *1H 300
ocHEAMUHIZ 300,000& *1H 300
=l MEEXNTEZYE /A 249 52,952 51,000 1,952
= 26,476
Al 7,943
- 18,533
307 212t0| & 52,952 51,000 1,952
= 26,476
Al 7,943
- 18,533
05 QIZtR &S 52,952 51,000 1,952
O=dl&d AMEEXNESY AERH
52,952,000 » 14! 52,952
= 26,476
Al 7,943
- 18,533
S 22 71,687 67,618 4,069
101 @121l 63,731 59,662 4,069
04 JI2ZtH 22 XNEE S 63,731 59,662 4,069
O3&d &2l JI2tH22 X+ el | 57,426
o Ol 4 H| 81,1963 x3H %220 53,590
oMEdZ2 BENMH 3,084& x3H %220 2,036
oS XEQE 300,000& «3H 900
ocHEAMUHZ 300,000& *3H 900
OAEX B2 6,305
oZ0IHAZIEEEY S 57,426,000& *4.5% 2,585
o=Z0AHAESEEHZ 57,426,000& *3.43% 1,970




AN AT Al D
HE: =MCA FA
Sl =X EHE Y 2 CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
SR E]
1,970,000& *11.52% 227
cIEEHEER 57,426,000 x1.65% 948
oMU EESR 57,426,000 *1% 575
201 Let249] 4,456 4,456
02 =24l 4,456 4,456
O3d &el 2323 % HA 4,456
crERE 150,000 1200 & 1,800
o(CCTV S48 23 95,0002 1201 & 1,140
oHI &Y SHRS 5,500& x12J1 & 66
ocdXE NLMESH 3IH(2H)
50,000& » 14 50
oHEl0l=0lAE REFH A=
350,000& *43] 1,400
206 = Hl 3,500 3,500
01 MHZ 4l 3,500 3,500
O3& &2 Mz 3,500
o= Hils dI2F Ml 17,000& »25H x23| 850
o &L HE=xE Xl 17,000& 258 »23| 850
oHlE 10,000& 50X 23| 1,000
oABNM(EAEIS, &, 301 S)
20,000& *40& 800
HE2HZH (LA S AlD) ,527,231 1,512,227
olet 2 gl 399,782 1,387,218
CEERESE A2 , 189,384 1,166,487
101 @14 Hl ,047,874 1,166,487
03 B2 (RIHY)2Z2NE S ,047,874 1,166,487
OkzE=x¥ ,047,874
=Jl2g 3,654,4703 x18H x 123 789,366
oZy Mgt 14,880
HEE (R 40,0003 x16H 128 7,680
IESE(RL - TH)
20,0003 30«12 7,200
o=l =4 82,865
FHZ A 140,000& «18H » 128 30,240
HEF I 3,654,470& x80%* 18 52,625
ocxU22SE 159,863
ANt 22+
27,5203 x18H »10A| 2t x 12& 59,444
OrUZ2 =Y 9,1703 18 ~4Al 2++ 128 7,923
SL2RH 110, 1102 »18H 20 39,640
AXReSsIt=g 146,820 +18H 20 52,856




<

n0

Kio

Hl w

23,681
23,681

117,829

48,180

40,955

28,694

NB,227
A 10,662
A 10,662

2,435
2,435

A2,106
N 18,077
N 18,077

H3r
Wikd
RIS

86,333
86,333
86,333

134,398
134,398
134,398

0l &t o

900

23,681
23,681
23,681

117,829
48,180

48,180
40,955
36,724

4,231
28,694

17,666
11,028
78,106
75,671
75,671
75,671
58,799

960

960
7,280
3,360
3,920
8,632
3,716
2,458
2,458

2,435
2,435
2,435

132,292
116,321
116,321
116,321

86,757

960
480

2
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[und

2l %3

i

300,000

i

<0
H

no
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0

2l x36%* 182

=

=

o
<0
_|L
X0

3,654,470

ulo
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I+
no
gl

i
ug
i
ro
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1 %4 5%

=

[nd

& %3.43%

=
e

36,724,000 *11.52%

1,070,655,000
1,070,655,000

ulo

Il

1 %1.65%

o
=

ao
I+
0
H
0

128
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[nd

#%1.03%

2| %D O *

=

1,070,655,000
1,070,655,000
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oJlEs
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RO

2B 123

40,000
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2,449,920% «80%*2H
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o

140,000
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00
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A+ 10A1 2F 128
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00
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=
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H

no
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X0
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21 %38%+2%

3,203,420

o
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0

oJ
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2B 128

=

o

3,614,870

el &
[
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Xl
oJllE2z

00
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=
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RO

A« 1E <123
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=

40,000

(Hh =2 XH)
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480

2B <123

=

o
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<

n0

Kio

Hl w

2,748

2,748

13,223

5,421

4,609

3,193

2,440
2,440

2,440
2,440

23,003

H3r
Wikd
RIS

125,009
125,009

17,889

17,889

96,720
96,720

8,280
3,300

4,980
2,120
2,120

272,701

Off &t 24

9,144
3,360
5,784
19,460

6,965
5,572

6,923

2,748

2,748
2,748

13,223

5,421
5,421
4,609
4,132

477
3,193

1,988
1,205

127,449
127,449

17,889
17,889
8,649

600
8,640

96,720
96,720
96,720

8,280

3,300
3,300
4,980
4,980
4,560
4,560
4,560

295,794

128
5

2| %P0 %
G2

=

o

[und

H *40%*2

140,000

3,614,870

SEREF

-

a0
<+
oF
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=
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-

0
<+
oF
nJ

o4

~J

*2HBx10A| 2++ 123

|
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29,019

128

=
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116,076

t
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1 +2H %22

=

o

157,336
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-,
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20

=l
X0

o
<0
_|L
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3,614,870% «38%*2H
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g
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A %4 5%

=

1 *11.52%
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& %3.43%

=
e

=

o
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120,462,000
120,462,000
4,132,000

ulo
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N
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H
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Rr
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1 %1.65%

o
=
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0
H
00

=

#%1.00%

e

120,462,000
120,462,000

fAII=ZH
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]3]
1)
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01 At2 22l bl

+31Y

279,000

00
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0H
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2l x
Al*30H « 128

=

50,000

2| %3

(=)
=

8,000

FH|

=
= o
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o+
oD
i

01 SLHOIYI

202 o4 Hl

1x318 + 128

=
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260,000

(Nl

60
<+
o+
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i

KJ
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i
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=

1994

2l x

=

[l

2 *3H)x128

3,300,000

240,000

+5,000

=

o

(400,000

O X 7

OSAITH

405 Xtk

J=23Hl

Kl

il




SA: QHEEAID
Hu: HRES(AHTAD)
124 X

S

= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
HEHHX = 295,794 272,701 23,093
Met2e iz &8 265,794 242,701 23,093
702 JIS3HES 265,794 242,701 23,093
(O RPIE=RSE-<3= 265,794 242,701 23,093
OM:t2eldg d&E=
79,738,197,680& *1/3%1/100 265,794
SqFNLHIZ & 30,000 30,000 0
702 J1SHES 30,000 30,000 0
01 JI3dE= 30,000 30,000 0
O=2qZ0YdIIs 8853 30,000,000& 30,000
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